

Bruno de Malafosse

SETS OF SEQUENCES THAT ARE STRONGLY τ -BOUNDED AND MATRIX TRANSFORMATIONS BETWEEN THESE SETS

Abstract. In this paper we are giving some new properties of the operator of first-difference mapping a space s_τ into itself and we are dealing with the spaces $s_\tau(\Delta^h)$ and $s_\tau((\Delta^+)^h)$. Next are given some properties of the spaces $\widetilde{w}_\tau(\lambda, \mu)$, $\widetilde{c}_\tau(\lambda, \mu, \lambda', \mu')$ generalizing the space $w_\infty(\lambda)$ and the space $c_\infty(\lambda)$ of sequences that are strongly bounded. Then are given some properties of matrix transformations between these spaces.

1. Introduction, notations and preliminary results

In this work, we shall use the infinite linear system of the form:

$$(1) \quad \sum_{m=1}^{+\infty} a_{nm}x_m = b_n \quad n = 1, 2, \dots$$

where the sequences $(a_{nm})_{n,m \geq 1}$ and $(b_n)_{n \geq 1}$ are given, $(x_n)_{n \geq 1}$ being the unknown sequence. This system is equivalent to the single matrix equation

$$(2) \quad AX = B,$$

where $A = (a_{nm})_{n,m \geq 1}$, n being the index of the n -th row, m the one of the m -th column, n and m being integers greater than 1; $X = (x_n)_{n \geq 1}$ and $B = (b_n)_{n \geq 1}$ are one-column matrices.

A Banach space E of complex sequences with the norm $\|\cdot\|_E$ is a BK space if each projection $P_n : X \rightarrow P_n X$ is continuous. Let s is the set of all sequences. For any sequence $\tau = (\tau_n)_{n \geq 1}$ such that $\tau_n > 0$ for every n , we denote by s_τ the Banach space

$$(3) \quad s_\tau = \{(x_n)_{n \geq 1} \in s \mid x_n = O(\tau_n) \quad n \rightarrow \infty\},$$

1991 *Mathematics Subject Classification*: 46A15.

Key words and phrases: infinite linear system, operator of first-difference, unital algebra, matrix transformations.

normed by

$$(4) \quad \|X\|_{s_\tau} = \sup_{n \geq 1} \left(\frac{|x_n|}{\tau_n} \right).$$

We denote by S_τ the Banach algebra

$$(5) \quad S_\tau = \left\{ A = (a_{nm})_{n,m \geq 1} \mid \sup_{n \geq 1} \left(\sum_{m=1}^{\infty} |a_{nm}| \frac{\tau_m}{\tau_n} \right) < \infty \right\},$$

normed by

$$(6) \quad \|A\|_{S_\tau} = \sup_{n \geq 1} \left(\sum_{m=1}^{\infty} |a_{nm}| \frac{\tau_m}{\tau_n} \right).$$

If $\|I - A\|_{S_\tau} < 1$, we shall say that $A \in \Gamma_\tau$. S_τ being a unital algebra, we have the useful result: if $A \in \Gamma_\tau$, A is invertible in the space S_τ , and for every $B \in s_\tau$, equation (2) admits a unique solution in s_τ , given by

$$(7) \quad X = \sum_{i=0}^{\infty} (I - A)^i B.$$

If $\tau = (\tau^n)_{n \geq 1}$, Γ_τ , S_τ and s_τ are replaced by Γ_r , S_r and s_r respectively (see [2], [4–8]). When $r = 1$, we obtain the space of all bounded sequences $l^\infty = s_1$.

For any subset E of s , we put

$$(8) \quad AE = \{Y \in s \mid \exists X \in E \quad Y = AX\}.$$

If F is a subset of s , we shall denote

$$(9) \quad F(A) = F_A = \{X \in s \mid Y = AX \in F\}.$$

We can see that $F(A) = A^{-1}F$. If A maps E into F , we write that $A \in (E, F)$, see [3]. Remark that $A \in (s_\tau, s_\tau)$ iff $A \in S_\tau$.

2. Some properties of the operator Δ^h for h real

2.1. Properties of Δ^h relatively to s_r

The well-known operator $\Delta^{(h)}: s \rightarrow s$ where h is an integer ≥ 1 , is represented by the infinite lower triangular matrix Δ^h where $\Delta = \begin{pmatrix} 1 & & & 0 \\ -1 & 1 & & \\ & & \ddots & \\ 0 & & & \ddots \end{pmatrix}$.

This definition can be generalized to the case when h is a real, see [1, 17]. For this, recall that we can associate to any power series $f(z) = \sum_{k=0}^{\infty} a_k z^k$ defined in the open disk $|z| < R$ the upper triangular infinite matrix

$A = \varphi(f) \in \bigcup_{0 < r < R} S_r$ defined by

$$\varphi(f) = \begin{pmatrix} a_0 & a_1 & a_2 & \cdot \\ & a_0 & a_1 & \cdot \\ O & & a_0 & \cdot \\ & & & \cdot \end{pmatrix},$$

(see [7], [13]). Practically we shall write $\varphi[f(z)]$ instead of $\varphi(f)$. We have

LEMMA 1. *i) The map $\varphi : f \rightarrow A$ is an isomorphism from the algebra of the power series defined in $|z| < R$, into the algebra of the corresponding matrices \bar{A} .*

ii) Let $f(z) = \sum_{k=0}^{\infty} a_k z^k$, with $a_0 \neq 0$, and assume that $\frac{1}{f(z)} = \sum_{k=0}^{\infty} a'_k z^k$ admits $R' > 0$ as radius of convergence. We then have

$$\varphi\left(\frac{1}{f}\right) = [\varphi(f)]^{-1} \in \bigcup_{0 < r < R'} S_r.$$

So, if $h \in R - N$, we denote

$$\begin{cases} \binom{-h+k-1}{k} = \frac{-h(-h+1)\dots(-h+k-1)}{k!} & \text{if } k > 0, \\ \binom{-h+k-1}{k} = 1 & \text{if } k = 0. \end{cases}$$

If we write $\Delta^t = \Delta^+$, we have for any $h \in R$

$$(\Delta^+)^h = \varphi[(1-z)^h] = \varphi\left[\sum_{k=0}^{\infty} \binom{-h+k-1}{k} z^k\right] \quad \text{for } |z| < 1.$$

We deduce that if $\Delta^h = (\tau_{nm})_{n,m \geq 1}$,

$$(10) \quad \tau_{nm} = \begin{cases} \binom{-h+n-m-1}{n-m} & \text{if } m \leq n, \\ 0 & \text{if } m > n. \end{cases}$$

Using the isomorphism φ , we get:

PROPOSITION 1. ([7]) *i) The operator represented by Δ is bijective from s_r into itself, for every $r > 1$ and Δ^+ is bijective from s_r into itself, for all r , $0 < r < 1$.*

ii) Δ^+ is surjective and not injective from s_r into itself, for all $r > 1$.

iii) $\forall r \neq 1$ and for every integer $h \geq 1$ $(\Delta^+)^h s_r = s_r$.

iv) We have successively

α) If h is a real > 0 and $h \notin N$, then Δ^h maps s_r into itself when $r \geq 1$ but not for $0 < r < 1$.

If $-1 < h < 0$, then Δ^h maps s_r into itself when $r > 1$ but not for $r = 1$.

β) If $h > 0$ and $h \notin N$, then $(\Delta^+)^h$ maps s_r into itself when $0 < r \leq 1$ but not if $r > 1$.

If $-1 < h < 0$, then $(\Delta^+)^h$ maps s_r into itself for $0 < r < 1$ but not for $r = 1$.

v) For a given integer $h \geq 1$, we have successively

$$\begin{cases} \forall r > 1 : A \in (s_r(\Delta^h), s_r) \Leftrightarrow \sup_{n \geq 1} (\sum_{m=1}^{\infty} |a_{nm}| r^{m-n}) < \infty, \\ \forall r \in]0, 1[: A \in (s_r((\Delta^+)^h), s_r) \Leftrightarrow \sup_{n \geq 1} (\sum_{m=1}^{\infty} |a_{nm}| r^{m-n}) < \infty. \end{cases}$$

vi) For every integer $h \geq 1$

$$s_1 \subset s_1(\Delta^h) \subset s_{(n^h)_{n \geq 1}} \subset \bigcap_{r > 1} s_r.$$

2.2. Properties of well-known operators mapping s_τ into itself

In this subsection we shall consider the well-known operators $C(\lambda)$ and $\Delta(\lambda)$, see [15], [11]. We shall see that these operators are obtained from Δ and $\Delta^{-1} = \Sigma$. Then we establish some properties of the spaces $s_\tau(\Delta^h)$, $l^\infty(C(\tau))$ and of the sequence $C(\tau)\tau$.

Put $U = \{(u_n)_{n \geq 1} / u_n \neq 0 \forall n\}$. If $\lambda = (\lambda_n)_{n \geq 1} \in U$, we have

$$C(\lambda) = \begin{pmatrix} 1/\lambda_1 & & & O \\ 1/\lambda_2 & 1/\lambda_2 & & \\ . & . & . & \\ 1/\lambda_n & . & 1/\lambda_n & 1/\lambda_n \\ & & & . & . \end{pmatrix}.$$

If $\xi = (\xi_n)_{n \geq 1}$ is a given sequence, we put $D_\xi = (\xi_n \delta_{nm})_{n,m \geq 1}$, where $\delta_{nm} = 0$ for $n \neq m$, and $\delta_{nn} = 1$ for all n . One gets $C(\lambda) = D_{1/\lambda} \Sigma$. Since $\Sigma^t = \varphi(\sum_{n=0}^{\infty} z^n) = \varphi(\frac{1}{1-z})$ with $|z| < 1$, Σ is the lower infinite triangular matrix all of whose entries below the main diagonal are equal to 1. Further, $(C(\lambda))^{-1} = \Sigma^{-1} D_\lambda = \Delta D_\lambda$. If we let $\Delta(\lambda) = \Delta D_\lambda$, then

$$\Delta(\lambda) = \begin{pmatrix} \lambda_1 & & & O \\ -\lambda_1 & \lambda_2 & & \\ & . & . & \\ O & & -\lambda_{n-1} & \lambda_n \\ & & & . & . \end{pmatrix},$$

is the inverse of $C(\lambda)$.

Further, we shall say that $\xi = (\xi_n)_{n \geq 1} \in \Gamma$ if

$$\overline{\lim}_{n \rightarrow \infty} \left(\left| \frac{\xi_{n-1}}{\xi_n} \right| \right) < 1.$$

Note that $\Delta \in \Gamma_{|\xi|}$ implies $\xi \in \Gamma$. Now we can express the following

PROPOSITION 2. i) $\tau \in \Gamma$ if and only if there is an integer $q \geq 1$ such that

$$\gamma_q(\tau) = \sup_{n \geq q+1} \left(\frac{\tau_{n-1}}{\tau_n} \right) < 1.$$

ii) If $\tau \in \Gamma$, we deduce the following properties

α) Δ is bijective from s_τ into itself.

β) There is an integer $q \geq 1$, and two reals $M > 0$ and $\kappa > 1$, for which $\tau_n \geq M\kappa^n$ for all $n \geq q+1$.

γ) $l^\infty(C(\tau)) = s_\tau$.

δ) $C(\tau)\tau \in l^\infty$.

ϵ) For any positive integer h , we have $s_\tau(\Delta^h) = s_\tau$.

iii) We get successively

α)

$$s_\tau(\Delta) = s_\tau \Leftrightarrow l^\infty(C(\tau)) = s_\tau \Leftrightarrow C(\tau)\tau \in l^\infty.$$

β) Let h be any fixed integer ≥ 1 and assume that $(\frac{\tau_{n-1}}{\tau_n})_{n \geq 2} \in l^\infty$, then

$$s_\tau(\Delta^h) = s_\tau \Leftrightarrow l^\infty(C(\tau)) = s_\tau \Leftrightarrow C(\tau)\tau \in l^\infty.$$

Proof. i) If $\tau \in \Gamma$, $l = \overline{\lim}_{n \rightarrow \infty} (\frac{\tau_{n-1}}{\tau_n}) < 1$ and $\inf_{q \geq 1} (\gamma_q(\tau)) < 1$. Hence there exists ε_0 , $0 < \varepsilon_0 < 1 - l$ and an integer q_0 such that $l \leq \gamma_{q_0}(\tau) \leq l + \varepsilon_0$, which proves the necessary condition. Conversely, if there exists $q \geq 1$ such that $\gamma_q(\tau) < 1$, then

$$\inf_{q \geq 1} (\gamma_q(\tau)) = \overline{\lim}_{n \rightarrow \infty} \left(\frac{\tau_{n-1}}{\tau_n} \right) < 1.$$

Assertion ii) First let us prove that $\tau \in \Gamma$ implies that Δ is bijective from s_τ into itself. Denote for any integer $q \geq 1$ by $\Sigma^{(q)}$ the infinite matrix

$$\begin{pmatrix} [\Delta^{(q)}]^{-1} & O \\ & 1 \\ O & . \end{pmatrix},$$

where $\Delta^{(q)}$ is the finite matrix whose elements are those of the q first rows and of the q first columns of Δ . We get $\Sigma^{(q)}\Delta = (a_{nm})_{n,m \geq 1}$, with $a_{nn} = 1$ for all n , $a_{nn-1} = -1$ for all $n \geq q+1$, and $a_{nm} = 0$ otherwise. We see that if $\tau \in \Gamma$, there exists an integer $q \geq 1$ such that

$$\|I - \Sigma^{(q)}\Delta\|_{s_\tau} = \gamma_q(\tau) < 1.$$

For all $B \in s_\tau$, we see that $\Sigma^{(q)}B \in s_\tau$. Then equation $\Delta X = B$ being equivalent to $(\Sigma^{(q)}\Delta)X = \Sigma^{(q)}B$ admits only one solution in s_τ for all $B \in s_\tau$. This proves that Δ is bijective from s_τ into itself.

Now, from i) we deduce that if $\tau \in \Gamma$ there exists an integer $q \geq 1$ and a real κ , with $0 < \kappa < 1$, for which $n \geq q + 1$ implies $\frac{\tau_{n-1}}{\tau_n} \leq \kappa$. Then $\tau_n \geq \frac{1}{\kappa^n} \tau_q \kappa^q$ for $n \geq q + 1$, and we obtain β), in which $\kappa = 1/\kappa$ and $M = \tau_q \kappa^q$.

Let us prove that $\tau \in \Gamma$ implies γ). First we have $(C(\tau))^{-1} = \Delta D_\tau$. It is obvious that D_τ is bijective from l^∞ into s_τ and as we have seen above Δ is bijective from s_τ into itself. Then $l^\infty(C(\tau)) = \Delta D_\tau l^\infty = \Delta s_\tau = s_\tau$.

$\tau \in \Gamma$ implies $C(\tau)\tau \in l^\infty$. Indeed, since $\tau \in \Gamma$ equation

$$\Delta X = \tau,$$

(where $\tau \in s_\tau$) admits in s_τ the unique solution $X = \Sigma.\tau$. This means that $\frac{\tau_1 + \dots + \tau_n}{\tau_n} = O(1)$ as $n \rightarrow \infty$ and we conclude that $C(\tau)\tau \in l^\infty$.

Since $\tau \in \Gamma$ implies α), we deduce that Δ^h is bijective from s_τ into itself. Then $s_\tau(\Delta^h) = s_\tau$ and $\tau \in \Gamma$ implies ε).

Assertion iii) α). Since the matrix Δ is lower triangular, we deduce that $s_\tau(\Delta) = s_\tau$ iff Δ is bijective from s_τ to s_τ . From the identities $s_\tau = D_\tau l^\infty$ and $(C(\tau))^{-1} = \Delta(\tau)$, we deduce that

$$s_\tau(\Delta) = s_\tau \Leftrightarrow \Delta s_\tau = s_\tau \Leftrightarrow \Delta(\tau)l^\infty = l^\infty(C(\tau)) = s_\tau.$$

Now let us show that $C(\tau)\tau \in l^\infty$ iff $l^\infty(C(\tau)) = s_\tau$. First prove that if $C(\tau)\tau \in l^\infty$ then $l^\infty(C(\tau)) = s_\tau$. Take $X = (x_n)_n \in l^\infty(C(\tau))$. Then $C(\tau)X \in l^\infty$, i.e. $X \in \Delta(\tau)l^\infty$. Hence there exists $(b_n)_n \in l^\infty$ such that $X = (\tau_n b_n - \tau_{n-1} b_{n-1})_{n \geq 1}$, with the convention $b_0 = 0$. And since $C(\tau)\tau \in l^\infty$ implies that $\frac{\tau_{n-1}}{\tau_n} = O(1)$ ($n \rightarrow \infty$) then

$$\frac{x_n}{\tau_n} = b_n - \frac{\tau_{n-1}}{\tau_n} b_{n-1} = O(1) \quad n \rightarrow \infty$$

and $X \in s_\tau$. This proves that $l^\infty(C(\tau)) \subset s_\tau$.

Now let us show that $s_\tau \subset l^\infty(C(\tau))$. Let $X \in s_\tau$. If we put $Y = (y_n)_n = C(\tau)X$ and if $[C(\tau)\tau]_n$ denotes the n -th coordinate of $C(\tau)\tau$, there is a real M such that

$$|y_n| = \left| \frac{1}{\tau_n} \sum_{k=1}^n x_k \right| \leq \frac{M}{\tau_n} \sum_{k=1}^n \tau_k = M[C(\tau)\tau]_n \quad \forall n.$$

We conclude that $Y \in l^\infty$ since $C(\tau)\tau \in l^\infty$ and $X \in l^\infty(C(\tau))$. Finally, if $l^\infty(C(\tau)) = s_\tau$ then $\tau \in l^\infty(C(\tau))$ and $C(\tau)\tau \in l^\infty$. This achieves the proof of iii) α).

Assertion iii) β). First, note that if $(\frac{\tau_{n-1}}{\tau_n})_{n \geq 2} \in l^\infty$, then $\Delta \in S_\tau$ and $\Delta \in (s_\tau, s_\tau)$. From iii) α) we see that it is enough to prove that $s_\tau(\Delta^h) = s_\tau$ iff $s_\tau(\Delta) = s_\tau$. If $s_\tau(\Delta) = s_\tau$ we deduce that Δ is bijective from s_τ to s_τ since the map $X \rightarrow \Delta X$ is injective. This implies that Δ^h is bijective from s_τ to s_τ and $s_\tau(\Delta^h) = s_\tau$. Conversely, suppose that $s_\tau(\Delta^h) = s_\tau$. First, we see that $\Delta^{h-1}s_\tau \subset s_\tau$, since $(\frac{\tau_{n-1}}{\tau_n})_{n \geq 2} \in l^\infty$ implies that $\Delta s_\tau \subset s_\tau$. On the other hand for any given $B \in s_\tau$ the equation $\Delta^h X = B$ admits a unique solution in s_τ and

$$(11) \quad B = \Delta(\Delta^{h-1}X) \in \Delta s_\tau.$$

This proves that $s_\tau \subset \Delta s_\tau$. Finally, $\Delta s_\tau = s_\tau$ and Δ is bijective from s_τ to s_τ , which gives the conclusion.

REMARK 1. The converse of the property " $\tau \in \Gamma$ implies $C(\tau)\tau \in l^\infty$ " in the previous proposition is false. Let us show that there is $\tau \notin \Gamma$ such that $C(\tau)\tau \in l^\infty$. Indeed, let $\zeta > 1$ and consider the sequence $(\tau_n)_{n \geq 1}$ defined by

$$\tau_n = \begin{cases} \zeta^k & \text{if } n = 2k, \\ \zeta^k & \text{if } n = 2k + 1. \end{cases}$$

We see that $\sup_{n \geq q+1} (\frac{\tau_{n-1}}{\tau_n}) = 1$ for all $q \geq 1$. On the other hand we get

$$\sum_{i=1}^{2p} \tau_i = \sum_{i=1}^p \tau_{2i-1} + \sum_{i=1}^p \tau_{2i} = \frac{\zeta^{p+1} + \zeta^p - \zeta - 1}{\zeta - 1} \quad \text{for all } p.$$

Then

$$\frac{1}{\tau_{2p}} \sum_{i=1}^{2p} \tau_i \leq \frac{\zeta + 1}{\zeta - 1}.$$

Doing analogous calculations, we get

$$\frac{1}{\tau_{2p+1}} \sum_{i=1}^{2p+1} \tau_i \leq \frac{\zeta + 1}{\zeta - 1}.$$

This proves that $C(\tau)\tau \in l^\infty$.

From iii) in Proposition 2 it can be easily seen that if there is $\tau \notin \Gamma$ such that $C(\tau)\tau \in l^\infty$, then $s_\tau(\Delta) = l^\infty(C(\tau)) = s_\tau$.

REMARK 2. Note that the sequence used in the previous remark satisfies β in ii). It is enough to take $\zeta > \kappa^2$.

2.3. Other properties of $(\Delta^+)^h$ relatively to s_τ

In order to express other usefull results on the operators Δ^h and $(\Delta^+)^h$ for h real, we need to recall the next result, see [2], [8].

Let $A(t_1, t_2, \dots, t_p)$, $p \in N$, be the matrix obtained from A by addition of the following rows:

$$t_1 = (t_{1m})_{m \geq 1}, t_2 = (t_{2m})_{m \geq 1}, \dots, t_p = (t_{pm})_{m \geq 1}$$

with $t_{kk} \neq 0$ ($k = 1, 2, \dots, p$), $t_{ij} \in R$, that is

$$A(t_1, t_2, \dots, t_p) = \begin{bmatrix} t_{1,1} & \cdot & \cdot & t_{1,m} & \cdot & \cdot \\ \cdot & \cdot & \cdot & \cdot & \cdot & \cdot \\ t_{p,1} & \cdot & \cdot & t_{p,m} & \cdot & \cdot \\ a_{1,1} & \cdot & \cdot & a_{1,m} & \cdot & \cdot \\ \cdot & \cdot & \cdot & \cdot & \cdot & \cdot \\ a_{n,1} & \cdot & \cdot & a_{n,m} & \cdot & \cdot \\ \cdot & \cdot & \cdot & \cdot & \cdot & \cdot \end{bmatrix}.$$

Similarly put

$$B(u_1, u_2, \dots, u_p) = (u_1, \dots, u_p, b_1, b_2, \dots)^t$$

and

$$\eta(u_1, u_2, \dots, u_p) = (u_1, \dots, u_p, 0, 0, \dots)^t.$$

We shall use the matrix $D_{a'} = D_{(a'_{nn})_n}$, where a'_{nn}^{-1} are the inverses of the diagonal elements of the matrix $A(t_1, t_2, \dots, t_p)$. Then we get:

PROPOSITION 3. ([8]) Let $\tau = (\tau_n)$, $\tau_n > 0 \forall n$, be a sequence such that

$$(12) \quad D_{a'} A(t_1, t_2, \dots, t_p) \in \Gamma_\tau \quad \text{and} \quad D_{a'} B(u_1, u_2, \dots, u_p) \in s_\tau.$$

Then

i) the solutions of $AX = B$ in the space s_τ are:

$$X = [D_{a'} A(t_1, t_2, \dots, t_p)]^{-1} D_{a'} B(u_1, u_2, \dots, u_p) \quad u_1, u_2, \dots, u_p \in C.$$

ii) The linear space $\text{Ker} A \cap s_\tau$ of the solutions of $AX = 0$ in the space s_τ is of dimension p and is given by

$$\text{Ker} A \cap s_\tau = \text{span}(X_1, X_2, \dots, X_p)$$

where

$$X_k = [A(t_1, t_2, \dots, t_p)]^{-1} \eta(0, 0, \dots, 1, 0, \dots, 0), \quad k = 1, 2, \dots, p,$$

1 being the k -th term of the p -tuple.

In the following we shall use the sequences $e_n = (0, \dots, 1, \dots)$, (where 1 is in the n -th position), $e = (1, 1, \dots)$ and

$$\begin{cases} V_1 = e^t, V_2 = (A_1^1, A_2^1, \dots)^t, V_3 = (0, A_2^2, A_3^2, \dots)^t, \dots \\ V_n = (0, 0, \dots, A_{n-1}^{n-1}, A_n^{n-1}, \dots, A_n^{n-1}, \dots)^t, \dots \end{cases}$$

$A_i^j = \frac{i!}{(i-j)!}$, with $0 \leq j \leq i$, being the number of permutations of i things taken j at a time. We obtain:

THEOREM 1. i) Let h be a real. For every $r > r_h = \frac{2^{\frac{1}{|h|}}}{2^{\frac{1}{|h|}} - 1}$, we have

$$s_r(\Delta^h) = s_r.$$

ii) We get successively

$\alpha)$ Let h be an integer ≥ 1 and take $r > r_h^+ = \frac{1}{2^h - 1}$. Then

$$s_r((\Delta^+)^h) = s_r.$$

Furthermore for any $B \in s_r$, the equation

$$(13) \quad (\Delta^+)^h X = B$$

admits in s_r infinitely many solutions given by

$$X = Z_0 + \sum_{i=1}^h u_i V_i \quad u_1, u_2, \dots, u_h \text{ being arbitrary scalars,}$$

where

$$Z_0 = [((\Delta^+)^h)((-1)^h e_1, \dots, (-1)^h e_\mu)]^{-1} B(0, \dots, 0).$$

$\beta)$ Let h be a real > 0 and denote by q the greatest integer strictly less than $h + 1$. Then $\dim \text{Ker}((\Delta^+)^h) = q$ and

$$\text{Ker}((\Delta^+)^h) = \text{span}(V_1, \dots, V_q).$$

Proof. Assertion i). We deduce from (10) that

$$\begin{aligned} \|I - \Delta^h\|_{s_r} &= \sup_{n \geq 2} \left(\sum_{m=1}^{n-1} \frac{|h(h-1) \dots (h-n+m+1)|}{(n-m)!} \frac{1}{r^{n-m}} \right) \\ &= \sum_{k=1}^{\infty} \frac{|h(h-1) \dots (h-k+1)|}{k!} \frac{1}{r^k} \\ &\leq \sum_{k=1}^{\infty} \frac{|h|(|h|+1) \dots (|h|+k-1)}{k!} \frac{1}{r^k}. \end{aligned}$$

Then, for $r > r_h$, $\ln(1 - \frac{1}{r}) > -\frac{\ln 2}{|h|}$ and

$$\|I - \Delta^h\|_{s_r} \leq \left(1 - \frac{1}{r}\right)^{-|h|} - 1 < 1.$$

We conclude that Δ^h is bijective from s_r into s_r and $s_r(\Delta^h) = s_r$.

ii) $\alpha)$ Let

$$\Delta'_h = [(\Delta^+)^h)((-1)^h e_1, \dots, (-1)^h e_h).$$

Δ'_h is lower triangular with non-zero coefficients on the main diagonal. For any real $r > r_h^+$, we have

$$\|I - (-1)^h \Delta'_h\|_{s_r} = \sum_{k=1}^h \frac{1}{r^k} \binom{h}{k} = \left(1 + \frac{1}{r}\right)^h - 1 < 1.$$

From Proposition 3 we deduce that

$$\dim \text{Ker}((\Delta^+)^h) \cap s_r = h.$$

Further, we can easily verify that the h vectors V_1, V_2, \dots, V_h are linearly independent and belong to $\text{Ker}((\Delta^+)^h) \cap s_r$. Hence V_1, V_2, \dots, V_h form a basis of this space. Moreover

$$Z_0 = (\Delta'_h)^{-1} B(0, 0, \dots, 0) \in s_r$$

is a particular solution of equation (13). Then the solutions of this equation are given by

$$X = (\Delta'_h)^{-1} B(u_1, u_2, \dots, u_h) = Z_0 + \sum_{i=1}^h u_i V_i \quad u_1, u_2, \dots, u_h \in R.$$

ii) β) It is well-known [1] that $\text{Ker}((\Delta^+)^h)$ is the set of all the sequences $(P_{q-1}(n))_{n \geq 1}$, P_{q-1} being an arbitrary polynomial of degree less than $q - 1$. Then $\dim \text{Ker}((\Delta^+)^h) = q$ and since $V_1, V_2, \dots, V_q \in \text{Ker}((\Delta^+)^h)$ are linearly independent, we conclude that $\text{Ker}((\Delta^+)^h) = \text{span}(V_1, V_2, \dots, V_q)$.

3. Generalization of the sets of sequences that are strongly τ -bounded

In this section we recall some properties of the sequence spaces that are strongly τ -bounded. Next we give definitions of the matrices $\hat{\Delta}(\lambda, \mu)$ and $\hat{C}(\lambda, \mu)$ generalizing the matrices $\Delta(\lambda)$ and $C(\lambda)$ and we deal with the spaces $\widetilde{w}_\tau(\lambda, \mu)$, $\widetilde{c}_\tau(\lambda, \mu, \lambda', \mu')$ generalizing the well-known space of sequences that are strongly bounded.

3.1. Sequence spaces that are strongly τ -bounded

For every sequence $X = (x_n)_n$, we define $|X| = (|x_n|)_{n \geq 1}$. For $\lambda \in U$, put

$$(14) \quad w_\tau(\lambda) = \{X \in s / C(\lambda)(|X|) \in s_\tau\}.$$

If there exist A and $B > 0$, such that $A < \tau_n < B$ for all n , we get the well-known space $w_\tau(\lambda) = w_\infty(\lambda)$, (see [15]). If s_τ is replaced by c_0 , it is written that $w_\tau(\lambda) = w_0(\lambda)$.

Consider now for $\lambda \in U$, $\lambda' \in s$ the space

$$(15) \quad c_\tau(\lambda, \lambda') = \{X \in s / C(\lambda)(|\Delta(\lambda')X|) \in s_\tau\}.$$

When $\lambda = \lambda'$ we shall write $c_\tau(\lambda)$ for short. $c_\tau(\lambda)$ is called the set of sequences that are strongly τ -bounded [9]. If s_τ is replaced by c_0 , $c_\tau(\lambda)$ is written $c_0(\lambda)$ and is called the set of sequences that are strongly convergent to 0. Similarly when s_τ is replaced by l^∞ , $c_\alpha(\lambda) = c_\infty(\lambda)$ is called the set of sequences that are strongly bounded [11], [15], [14]. We can also define the set $c(\lambda)$ of sequences that are strongly convergent by

$$c(\lambda) = \{X \in s / X - le^t \in c_0(\lambda) \text{ for some } l \in C\}.$$

We have the next result, where $\lambda, \lambda' \in U$.

THEOREM 2. ([9]) *i) Assume that $\tau\lambda \in \Gamma$. Then $c_\tau(\lambda, \lambda')$ is a BK space with respect to $\| \cdot \|_{s_\tau \frac{|\lambda|}{|\lambda'|}}$. We have*

$$(16) \quad c_\tau(\lambda, \lambda') = s_\tau(C(\lambda)\Delta(\lambda')) = s_\tau \frac{|\lambda|}{|\lambda'|} \quad \text{and} \quad c_\tau(\lambda) = s_\tau.$$

ii) Assume that $\chi = \sup_{n \geq 2} (\frac{1}{\tau_{n-1}|\lambda_{n-1}|}) < \infty$ and define the sequence $\xi = (\xi_n)_n$ by $0 < \xi_1 < 1/\chi$ and $\xi_n = \tau_{n-1}|\lambda_{n-1}|$ for all $n \geq 2$. Then

$$s_\tau(C(\lambda)\Delta^+) = s_\xi.$$

Moreover for any $B \in s_\tau$ equation $(C(\lambda)\Delta^+)X = B$, admits in s_ξ infinitely many solutions given by

$$X = [(D_\lambda C(\lambda)\Delta^+)(-e_1)]^{-1}(D_\lambda B)(u), \quad \text{for all scalars } u.$$

REMARK 3. Note that ii) in the previous theorem follows from Proposition 3 in Section 2.

We can deduce from the preceding the next results [9].

COROLLARY 1. *i) Assume that $\tau\lambda \in \Gamma$.*

a- If $\lambda \in U$, $\lambda' \in U$ with $(\lambda'_n)_n \rightarrow \infty$, then

$$c_\tau(\lambda, \lambda') \neq l^\infty.$$

b- If $\lambda \in s_{|\lambda|}$ and $\lambda' \in s_{|\lambda'|}$, then $c_\tau(\lambda, \lambda') = s_\tau$.

ii) Suppose that $(|\lambda_n|)_n$ is increasing and $\tau \in \Gamma$, then

$$c_\tau(\lambda, \lambda') = s_\tau \frac{|\lambda|}{|\lambda'|} \quad \text{and} \quad c_\tau(\lambda) = s_\tau.$$

iii) Let R be a real strictly greater than 1. If we suppose that $\lambda \in \Gamma$, then

$$c_R(\lambda, \lambda') = s_R(C(\lambda)\Delta(\lambda')) = s_{(R^n |\frac{\lambda_n}{\lambda'_n}|)_n}.$$

iv) If $0 < \xi_1 < [\sup_{n \geq 2} (\frac{1}{|\lambda_{n-1}|})]^{-1}$, then $l^\infty(C(\lambda)\Delta^+) = s_\xi$.

REMARK 4. If we assume that $\tau \in l^\infty$ the space $c_\tau(\lambda, \lambda')$ cannot be written in the form s_ζ , $\zeta = (\zeta_n)_n$ being a sequence satisfying $\zeta_n > 0 \forall n$. However, it is the case for $l^\infty(C(\lambda)\Delta^+)$.

We can assert the following result concerning matrix transformations, ξ being the sequence defined in ii) of Theorem 2. Using the property,

$$(17) \quad A \in (s_\tau, s_v) \Leftrightarrow \sup_n \left(\sum_{m=1}^{\infty} |a_{nm}| \frac{\tau_m}{v_n} \right) < \infty,$$

where $\tau = (\tau_n)_n$, $v = (v_n)_n$ with v_n and $\tau_n > 0$ for all n , (see [9]), we get $(s_\tau, s_v) = S_{\tau,v}$, where

$$S_{\tau,v} = \left\{ A = (a_{nm})_{n,m \geq 1} / \sup_{n \geq 1} \left(\frac{1}{v_n} \left(\sum_{m=1}^{\infty} |a_{nm}| \tau_m \right) \right) < \infty \right\}.$$

So, we obtain

COROLLARY 2. ([9])

$$A \in (s_\tau(C(\lambda)\Delta^+), s_v) \Leftrightarrow \sup_{n \geq 1} \left(|a_{n1}| \frac{\xi_1}{v_n} + \sum_{m=2}^{\infty} |a_{nm}| \frac{\tau_{m-1} |\lambda_{m-1}|}{v_n} \right) < \infty.$$

3.2. Generalization to the spaces $\widetilde{w}_\tau(\lambda, \mu)$ and $\widetilde{c}_\tau(\lambda, \mu, \lambda', \mu')$

Let $\lambda = (\lambda_n)_{n \geq 1} \in U$ and $\mu = (\mu_n)_{n \geq 1}$. We write

$$\widehat{\Delta}(\lambda, \mu) = \begin{pmatrix} \lambda_1 & & & O \\ -\mu_1 & \lambda_2 & & \\ & \cdot & \cdot & \\ O & & -\mu_{n-1} & \lambda_n \\ & & & \cdot & \cdot \end{pmatrix}.$$

If we put $\rho_k = \frac{\mu_k}{\lambda_k}$, it can be easily seen that if

$$\widehat{C}(\lambda, \mu) = (\widehat{\Delta}(\lambda, \mu))^{-1} = (c_{nm})_{n,m \geq 1},$$

we get

$$c_{nm} = \begin{cases} \frac{1}{\lambda_n} & \text{if } m = n, \\ \frac{1}{\lambda_n} \prod_{k=m}^{n-1} \rho_k & \text{if } m < n, \\ 0 & \text{otherwise.} \end{cases}$$

Note that $\widehat{\Delta}(\lambda, \lambda) = \Delta(\lambda)$ and $\widehat{C}(\lambda, \lambda) = C(\lambda)$. We can define the set

$$\widetilde{w}_\tau(\lambda, \mu) = \{X \in s / \widehat{C}(\lambda, \mu)(|X|) \in s_\tau\},$$

that is

$$\widetilde{w}_\tau(\lambda, \mu) = \left\{ X \in s / \frac{1}{\lambda_n} \left[|x_n| + \sum_{m=1}^{n-1} \left(\prod_{k=m}^{n-1} \rho_k \right) |x_m| \right] = O(\tau_n) \quad n \rightarrow \infty \right\}.$$

For any sequences $\lambda, \lambda' = (\lambda'_n)_{n \geq 1} \in U$, μ and $\mu' = (\mu'_n)_{n \geq 1}$ we define also the set

$$\tilde{c}_\tau(\lambda, \mu, \lambda', \mu') = \{X \in s / \quad \widehat{C}(\lambda, \mu)(|\widehat{\Delta}(\lambda', \mu')X|) \in s_\tau\}$$

and using the convention $\mu'_0 = 0$ we obtain $X \in \tilde{c}_\tau(\lambda, \mu, \lambda', \mu')$ iff

$$x_n = \frac{1}{\lambda_n} \left[|\lambda'_n x_n - \mu'_{n-1} x_{n-1}| + \sum_{m=1}^{n-1} \left(\prod_{k=m}^{n-1} \rho_k \right) |\lambda'_m x_m - \mu'_{m-1} x_{m-1}| \right] = O(\tau_n) \quad n \rightarrow \infty.$$

It can be easily seen that $\widetilde{w}_\tau(\lambda, \lambda) = w_\tau(\lambda)$, $\tilde{c}_\tau(\lambda, \lambda, \lambda', \lambda') = c_\tau(\lambda, \lambda')$ and $c_\tau(\lambda, \lambda) = c_\tau(\lambda)$, see [9].

Now, in order to generalize Theorem 2, we define for any sequence τ , the set

$$\Phi_\tau = \left\{ X = (x_n)_{n \geq 1} / \quad \overline{\lim}_{n \rightarrow \infty} \left(|x_n| \frac{\tau_{n-1}}{\tau_n} \right) < 1 \right\}.$$

Observe that $e \in \Phi_\tau$ implies that $\tau \in \Gamma$. Now, for $\lambda, \lambda' \in U$, μ and $\mu' \in s$, consider the following conditions:

$$(18) \quad \left(\frac{\mu_{n-1}}{\lambda_n} \right)_{n \geq 2} \in \Phi_\tau,$$

$$(19) \quad \left(\frac{\mu'_{n-1}}{\lambda'_n} \right)_{n \geq 2} \in \Phi_{|\lambda|_\tau}.$$

THEOREM 3. i) For any given $\lambda \in U$, $\mu \in s$ such that (18) holds, we have

$$\widetilde{w}_\tau(\lambda, \mu) = s_{|\lambda|_\tau}.$$

ii) Assume that (18) and (19) hold for any given $\lambda, \lambda' \in U$, μ and $\mu' \in s$. Then $\tilde{c}_\tau(\lambda, \mu, \lambda', \mu')$ is a BK space with respect to the norm $|||_{s_{|\frac{\lambda}{\lambda'}|_\tau}}$ and

$$\tilde{c}_\tau(\lambda, \mu, \lambda', \mu') = s_{|\frac{\lambda}{\lambda'}|_\tau}.$$

Proof. i) Put $\Delta''(\lambda, \mu) = \widehat{\Delta}(\lambda, \mu)D_{1/\lambda}$ in order to obtain all the diagonal entries of $\Delta''(\lambda, \mu)$ equal to 1. We see that the map $X \rightarrow D_\lambda X$ is bijective from s_τ into $s_{|\lambda|_\tau}$. Consider now the infinite matrix

$$[\Sigma''(\lambda, \mu)]^{(q)} = \begin{pmatrix} [[\Delta''(\lambda, \mu)]^{(q)}]^{-1} & O \\ & 1 \\ O & & . \end{pmatrix},$$

where $[\Delta''(\lambda, \mu)]^{(q)}$ is the finite matrix whose entries are those of the q first rows and of the q first columns of $\Delta''(\lambda, \mu)$. We get $[\Sigma''(\lambda, \mu)]^{(q)} \widehat{\Delta}(\lambda, \mu) = (a_{nm})_{n, m \geq 1}$, with $a_{nn} = 1$ for all n , $a_{nn-1} = -\rho_{n-1}$ for $n \geq q+1$, and

$a_{nm} = 0$ otherwise. From (18) we deduce that there is $q \geq 1$ such that

$$(20) \quad \|I - [\Sigma''(\lambda, \mu)]^{(q)} \Delta''(\lambda, \mu)\|_{s_{|\lambda|\tau}} = \sup_{n \geq q+1} \left(\left| \rho_{n-1} \right| \left| \frac{\lambda_{n-1}}{\lambda_n} \right| \frac{\tau_{n-1}}{\tau_n} \right) \\ = \sup_{n \geq q+1} \left(\left| \frac{\mu_{n-1}}{\lambda_n} \right| \frac{\tau_{n-1}}{\tau_n} \right) < 1.$$

For every $B \in s_{|\lambda|\tau}$, we see that $[\Sigma''(\lambda, \mu)]^{(q)} B \in s_{|\lambda|\tau}$. Furthermore, equation $\Delta''(\lambda, \mu)X = B$ being equivalent to

$$[\Sigma''(\lambda, \mu)]^{(q)} \Delta''(\lambda, \mu)X = [\Sigma''(\lambda, \mu)]^{(q)} B,$$

we deduce that the equation $\Delta''(\lambda, \mu)X = B$ admits only one solution in $s_{|\lambda|\tau}$ for all $B \in s_{|\lambda|\tau}$. This proves that $\Delta''(\lambda, \mu)$ is bijective from $s_{|\lambda|\tau}$ into itself. We conclude that $\widehat{\Delta}(\lambda, \mu) = \Delta''(\lambda, \mu)D_\lambda$ is bijective from s_τ into $s_{|\lambda|\tau}$ and

$$\widetilde{w}_\tau(\lambda, \mu) = \{X \in s \mid |X| \in \widehat{\Delta}(\lambda, \mu)s_\tau = s_{|\lambda|\tau}\} = s_{|\lambda|\tau}.$$

ii) We see that $X \in \widetilde{c}_\tau(\lambda, \mu, \lambda', \mu')$ iff $|\widehat{\Delta}(\lambda', \mu')X| \in \widehat{\Delta}(\lambda, \mu)s_\tau$. And since (18) holds we deduce from i) that $\widehat{\Delta}(\lambda, \mu)s_\tau = s_{|\lambda|\tau}$. Reasoning as above we see that the map $X \rightarrow D_{\lambda'}X$ is bijective from $s_{|\frac{\lambda}{\lambda'}|\tau}$ into $s_{|\lambda|\tau}$ and from (19) there exists $q \geq 1$ such that

$$(21) \quad \|I - [\Sigma''(\lambda', \mu')]^{(q)} \Delta''(\lambda', \mu')\|_{s_{|\lambda|\tau}} = \sup_{n \geq q+1} \left(\left| \frac{\mu'_{n-1}}{\lambda'_{n-1}} \right| \left| \frac{\lambda_{n-1}}{\lambda_n} \right| \frac{\tau_{n-1}}{\tau_n} \right) < 1.$$

Then, $\widehat{\Delta}(\lambda', \mu')$ is bijective from $s_{|\frac{\lambda}{\lambda'}|\tau}$ into $s_{|\lambda|\tau}$. Finally, for any given X , we get

$$X \in \widetilde{c}_\tau(\lambda, \mu, \lambda', \mu') \Leftrightarrow |\widehat{\Delta}(\lambda', \mu')X| \in \widehat{\Delta}(\lambda, \mu)s_\tau$$

equivalent to

$$X \in [\widehat{\Delta}(\lambda', \mu')]^{-1} \widehat{\Delta}(\lambda, \mu)s_\tau = [\widehat{\Delta}(\lambda', \mu')]^{-1} s_{|\lambda|\tau} = s_{|\frac{\lambda}{\lambda'}|\tau}.$$

This concludes the proof.

We deduce the following

3.3. Matrix transformations

Here we give some properties of matrix transformations mapping E into F where E is either one of the spaces s_u or $\widetilde{w}_\tau(\lambda, \mu)$ or $\widetilde{c}_\tau(\lambda, \mu, \lambda', \mu')$ and F is either one of the spaces s_v or $\widetilde{w}_\alpha(\xi, \eta)$ or $\widetilde{c}_\tau(\xi, \eta, \xi', \eta')$.

Now, consider the following supplementary hypotheses:

$$(22) \quad \left(\frac{\eta_{n-1}}{\xi_n} \right)_{n \geq 2} \in \Phi_\alpha,$$

$$(23) \quad \left(\frac{\eta'_{n-1}}{\xi'_{n-1}} \right)_{n \geq 2} \in \Phi_{|\xi|\alpha}.$$

For any given sequences $\lambda, \xi, \lambda', \xi' \in U$, $\mu, \mu', \eta, \eta' \in s$, $\gamma = (\gamma_n)_{n \geq 1}$, $v = (v_n)_{n \geq 1}$, $\alpha = (\alpha_n)_{n \geq 1}$ and τ with γ_n, v_n, α_n and $\tau_n > 0 \forall n$, we obtain the following

THEOREM 4. i) Under (22), we get:

$$A \in (s_\gamma, \widetilde{w}_\alpha(\xi, \eta)) \Leftrightarrow \sup_{n \geq 1} \left(\frac{1}{\alpha_n |\xi_n|} \sum_{m=1}^{\infty} |a_{nm}| \gamma_m \right) < \infty;$$

ii) under (18), we have:

$$A \in (\widetilde{w}_\tau(\lambda, \mu), s_v) \Leftrightarrow \sup_{n \geq 1} \left(\frac{1}{v_n} \left(\sum_{m=1}^{\infty} |a_{nm} \lambda_m| \tau_m \right) \right) < \infty;$$

iii) under (18) and (22), we have

$$A \in (\widetilde{w}_\tau(\lambda, \mu), \widetilde{w}_\alpha(\xi, \eta)) \Leftrightarrow \sup_{n \geq 1} \left(\frac{1}{|\xi_n| \alpha_n} \left(\sum_{m=1}^{\infty} |a_{nm} \lambda_m| \tau_m \right) \right) < \infty;$$

iv) under (22) and (23), we have

$$A \in (s_\gamma, \widetilde{c}_\alpha(\xi, \eta, \xi', \eta')) \Leftrightarrow \sup_{n \geq 1} \left(\frac{|\xi'_n|}{|\xi_n| \alpha_n} \left(\sum_{m=1}^{\infty} |a_{nm}| \gamma_m \right) \right) < \infty;$$

v) under (18) and (19), we obtain

$$A \in (\widetilde{c}_\tau(\lambda, \mu, \lambda', \mu'), s_v) \Leftrightarrow \sup_{n \geq 1} \left(\frac{1}{v_n} \left(\sum_{m=1}^{\infty} \left| a_{nm} \frac{\lambda_m}{\lambda'_m} \right| \tau_m \right) \right) < \infty;$$

vi) under (18), (22) and (23):

$$A \in (\widetilde{w}_\tau(\lambda, \mu), \widetilde{c}_\alpha(\xi, \eta, \xi', \eta')) \Leftrightarrow \sup_{n \geq 1} \left(\frac{|\xi'_n|}{|\xi_n| \alpha_n} \left(\sum_{m=1}^{\infty} |a_{nm} \lambda_m| \tau_m \right) \right) < \infty;$$

vii) under (18), (19) and (22):

$$A \in (\widetilde{c}_\tau(\lambda, \mu, \lambda', \mu'), \widetilde{w}_\alpha(\xi, \eta)) \Leftrightarrow \sup_{n \geq 1} \left(\frac{1}{|\xi_n| \alpha_n} \left(\sum_{m=1}^{\infty} \left| a_{nm} \frac{\lambda_m}{\lambda'_m} \right| \tau_m \right) \right) < \infty;$$

viii) under (18), (19), (22) and (23):

$$A \in (\widetilde{c}_\tau(\lambda, \mu, \lambda', \mu'), \widetilde{c}_\alpha(\xi, \eta, \xi', \eta')) \Leftrightarrow \sup_{n \geq 1} \left(\frac{|\xi'_n|}{|\xi_n| \alpha_n} \left(\sum_{m=1}^{\infty} \left| a_{nm} \frac{\lambda_m}{\lambda'_m} \right| \tau_m \right) \right) < \infty.$$

Proof. i) If (22) holds $\widetilde{w}_\alpha(\xi, \eta) = s_{|\xi|\alpha}$ and from (19)

$$A \in (s_\gamma, \widetilde{w}_\alpha(\xi, \eta)) \Leftrightarrow A \in S_{\gamma, |\xi|\alpha}.$$

ii) From (18) $\widetilde{w}_\tau(\lambda, \mu) = s_{|\lambda|_\tau}$ and we conclude as in i). iii) Under (18), (22) and i) in Theorem 10, we get $\widetilde{w}_\tau(\lambda, \mu) = s_{|\lambda|_\tau}$ and $\widetilde{w}_\alpha(\xi, \eta) = s_{|\xi|_\alpha}$. Then

$$A \in (\widetilde{w}_\tau(\lambda, \mu), \widetilde{w}_\alpha(\xi, \eta)) \Leftrightarrow A \in S_{|\lambda|_\tau, |\xi|_\alpha},$$

hence we obtain iii).

iv) From (22), (23) and ii) in Theorem 3, we get $\widetilde{c}_\alpha(\xi, \eta, \xi', \eta') = s_{|\frac{\xi}{\xi'}|_\alpha}$. Then

$$(s_\gamma, \widetilde{c}_\alpha(\xi, \eta, \xi', \eta')) = S_{\gamma, |\frac{\xi}{\xi'}|_\alpha}.$$

v) As in iv) (18) and (19) imply $\widetilde{c}_\tau(\lambda, \mu, \lambda', \mu') = s_{|\frac{\lambda}{\lambda'}|_\tau}$ and

$$(\widetilde{c}_\tau(\lambda, \mu, \lambda', \mu'), s_v) = S_{|\frac{\lambda}{\lambda'}|_\tau, v}.$$

vi) (18) implies that $\widetilde{w}_\tau(\lambda, \mu) = s_{|\lambda|_\tau}$, (22) and (23) imply that $\widetilde{c}_\alpha(\xi, \eta, \xi', \eta') = s_{|\frac{\xi}{\xi'}|_\alpha}$. Hence

$$(\widetilde{w}_\tau(\lambda, \mu), \widetilde{c}_\alpha(\xi, \eta, \xi', \eta')) = S_{|\lambda|_\tau, |\frac{\xi}{\xi'}|_\alpha}.$$

Similarly we get vii).

Finally, since (18) and (19) imply $\widetilde{c}_\tau(\lambda, \mu, \lambda', \mu') = s_{|\frac{\lambda}{\lambda'}|_\tau}$ and (22) and (23) imply $\widetilde{c}_\alpha(\xi, \eta, \xi', \eta') = s_{|\frac{\xi}{\xi'}|_\alpha}$ we conclude that

$$(\widetilde{c}_\tau(\lambda, \mu, \lambda', \mu'), \widetilde{c}_\alpha(\xi, \eta, \xi', \eta')) = S_{|\frac{\lambda}{\lambda'}|_\tau, |\frac{\xi}{\xi'}|_\alpha},$$

which gives viii).

References

- [1] A. F. Andersen, *Summation of nonintegral order*, Mat. Tidsskr. B. (1946) 33-52.
- [2] R. Labbas, B. de Malafosse, *On some Banach algebra of infinite matrices and applications*, Demonstratio Math. 31 (1998), 153-168.
- [3] I. J. Maddox, *Infinite Matrices of Operators*, Springer-Verlag, Berlin, Heidelberg and New York, 1980.
- [4] B. de Malafosse, *Systèmes linéaires infinis admettant une infinité de solutions*, Atti dell' Accademia Peloritana dei Pericolanti di Messina, Classe I di Scienze Fis. Mat. e Nat. Vol. 65 (1986), 49-59.
- [5] B. de Malafosse, *On the spectrum of the Cesàro operator in the space s_r* , Faculté des Sciences de l'Université d'Ankara, Series A1 Mathematics and statistics Vol 48 (1999), 53-71.
- [6] B. de Malafosse, *Bases in sequence spaces and expansion of a function in a series of power series*, Matematicki Vesnik, Vol 52, n°3-4 (2000), 99-112.
- [7] B. de Malafosse, *Properties of some sets of sequences and application to the spaces of bounded difference sequences of order μ* , Hokkaido Math. J. Vol. 31 (2002), 283-299.

- [8] B. de Malafosse, *Recent results in the infinite matrix theory and application to Hill equation*, Demonstratio Math. 35 (2002), 11–26.
- [9] B. de Malafosse, E. Malkowsky, *Sequence spaces and inverse of an infinite matrix*, Rend. del Circ. Mat. di Palermo. Vol. 51 (2002), 277–294.
- [10] E. Malkowsky, *BK spaces, bases and linear operators*, Rend. del Circ. Mat. di Palermo. Serie II. Suppl. 52 (1998), 177–191.
- [11] E. Malkowsky, *Linear operators in certain BK spaces*, Bolyai Mathematical Studies, S, Approximation Theory and Function Series Budapest (Hungary), 1995, Budapest (1996).
- [12] E. Malkowsky, S. D. Parashar, *Matrix transformations in spaces of bounded and convergent difference sequences of order m* , Analysis 17 (1997), 87–97.
- [13] H. Mascart, B. de Malafosse, *Systèmes linéaires infinis associés à des séries entières*, Accademia Peloritana dei Pericolanti di Messina, Classe I di Scienze Fis. Mat. e Nat. Vol. 64 (1988), 25–29.
- [14] F. Moricz, *On Λ -strong convergence of numerical sequences and Fourier series*, Acta Math. Hung. 54 (3–4) (1989), 319–327.
- [15] A. Wilansky, *Summability through Functional Analysis*, North-Holland Mathematics Studies 85, 1984.
- [16] K. Zeller, W. Beckmann, *Theory der Limitierungs verfahren*, Springer-Verlag Berlin Heidelberg New York, 1970.

LMAH UNIVERSITÉ DU HAVRE I.U.T.
B.P 4006, LE HAVRE. FRANCE

Received December 12, 2001.

